
i:r11, t f,)'-13

<<nor.trhq zufnhr€nhL3uLh

SLOI-bL

Zurutnururnr-rf hrl
>>otrc

.{.uuLnhqSuL

2017 oququLF qLflb plmh/

Tluru{rpunnm'<<f}nq}r\ Zurpnr-plnth3urtr}r urtn{urtr Upmfuurtr}r pd2\ur\urli \htlnpntr>> OtrC
UtnlurLntilg '<<flntplr\ Zurpnr-p3mh3rublr urinlurtr Upnrlrutrir pd2\ru\urtr \htrupntr>> CItrQ-h
\uplphhp[ hurtiurp qtnln{ urqpurtrptrhp, ur2}uuruulhplihp h Erunurlmplmhhhp
Sfrtrurhuunlnpriurh urqp3ntpp' <<flmpfr\ Zurpmplnttrlurtrlr urln{ruti Upmfiurtr}r pd2\ur\urli \hhrnpnh>>
(DtrC p1m2h

Uh2uthgh\
lln+p [uur
CPV rluluul

\urpqilurh
Utnlurhnr-rfp

2*t
h

,ih*rl
nF

Stuti
urh
&b

/gt fu
urgur

h*pq
p/

Ufrurlnplr
qtrttp

Ctrquitihtr
E

burluuhpp
/4puni/

€urtrurllp

7 2 3 4 5 6 1

1 Uqpurtrphtp
33500000 atnurqnn&urtuh unrnurnnurhp

3 3 6 61160
'tIpufS!$L o, 2%L,o /qlururfr$]frhfr

hlr4pntnurpmpurur )
uFquq qz 95 L4,3 150

33611 170 4pnrnutlhpfrtrfr hfr4pnppplr4 80rlq 2d1 1/huru sz 44 44, A 1000

3 3 51117 0 4pnuu{hpfrh]r hf4pnplnpf4 aoilq 2d1 uFq q2 53 tr, r00

336LL220

Lhppfb ptr4nthilurh 2pul{hpur\iutrqhh! *{hp
hururplmdlr ptnptr4, \u$mil| plnph4, l-rulnplrnuf|
gfurpur.n, u.rh2ntp qgmlnq

/4"21
sz

250 200 ,0 800

33671240 U\uf{ug{ub ubm}u 4,/huru qZ 0r1 300

33691202 kururdqfrprur 25 UIo/ 2rtL uPquq sz 160 11 6,0 110 0

3362L290
hqfbhSpfb (u4phburflrtrl r, o upqurq q2 725 25, 0 200

33621590 $nrpnuhrllr4 l% 2,0 uPli q2 21 54,0 2000

33631290 hpntqpn$hh 2 0 Orlq q/huru s2 1 42,0 6000

3 3 631310 }|\1n$hLu\ r00dq (4f\p$hLur\ tluupfrnul) r/hruu q2 '25 aa tr 1500

3 3 6s 1118 ShQrrp[urpunh 1,0q Sr*\ q2 150 600,0 4000

3 3 6 51118 StQnpfrupunh lnftfr2n{ Si-*lt SZ 3040 60,8 20

3 3 65112 3 Sh$trmurpulrd 1, 0 ttur1l sz 900 21 0,0 300

3 3 65113 5 Pppruri$thfr\n1, rltpfrptpurgfr1 pumll hurur sz 250 30,0 12a

3 3 65114 9 Llruuuulrh 500 1/hr.uu qZ 140 28 ,0 200

33691222 SfLupfqfL zstiq h*P sz 6 1, B 300

3 3 6 61119 tlhulurffrqny 5O%2d1 upqurq qz 34 702, A 3000

33661r-54 Stupur\u1frb 1% 10ri1 FL*\, SZ 2204 L54 ,0 '70

33661155 tdirtlnpl 0,5% Ppu\nl qe 400 28 ,0 10

336'711L1 Surmnhh 40riq/iit [1ur\nl sz 500 11tr n 234

33600000 Shrunn$ropuruqhL 3dq/ilr; 5dr [1ur\nl gz 400 40, 0 100

3 3 67 1118 'Ihpuurdhpuqnb 0,1% 10rI1 Ipr\nl q2 520 36, 4 70

3 3 67 1113 uurl:qruurtfn1 (urupnrururr.Infr um1$tuur) o2 ,,sz 910 9'7 ,0 100

3361 LLt4 udfbn$f$L 2 .4e" 5ll1 uPq q2 44,4 AAA 1000

3361 1126 trpndhhpulrh E.lq 4/huru ge 5 ftr 700
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